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Reg. No.

VI Semester B.Com. (NEP) Degree Examination, May/June - 2025
ASSESSMENT OF PERSONS OTHER THAN INDIVIDUALS AND
FILING OF ITR’S
(Repeater/Regular)
Time : 2 Hours Maximum Marks : 60
Instructions to Candidates:
1)  All Sections are Compulsory.
DR QyRnnd SEon.
2) Section D is compulsory.
QyRn @ SmR oG,
3) Simple Calculator is Allowed.
To¥ Tmendeedst O, ST,

SECTION - A
QTN - &

Answer any Five of the following questions. (5x2=10)
T AT Semu wmh IBAYR evzoad.

1. /df)/ What is dc.prematlon?

.'.)_¢ el - ——
AT AL -u

b) How do you assess the firm when it does not comply with the provisions of
Sec 1847
300 1840 Lwomsnvm woalmpn dexy) =od co’:s” Teri DeoF0WTSeD?

2 2
<7 Define Company?
UOwROﬁD& SSDRVERNE

d) Who is liable to pay Advance tax?
TWONE 201 DOWSEL CIRD  BR=RMmMOS?

¢) How do you treat the receipts from the ‘Agniveer’ Corpus fund by a person?
BNIT  WIFFT QQHCWOT B2, 5@? WOE  sAtORYR, ey Jer

el -‘,-f? - B ooe g
WUNETA0SE0?

What 1s block of assets?
RABNG Mo 20Tdesh
N =
Who 1s a working partner?
BORE  TLOTRT  o3mT?
[P T.O.
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SECTION - B
RN - W

Answer any Three of the following questions. (3x5=15)
38NE NeWB et IZAeR wvzZorl.

Compute depreciation on Plant and Machinery for AY 2024-2025 from the following
information:

WDV of block of P and M on 1-4-2023 was Rs.7,50,000.

On 1-7-2023 a new P and M is added to the block costing Rs. 5,00,000 on which
Rs. 2,00,000 received as subsidy from Government, This new P and M added 30% to
the production capacity.

On 15-12-2023 a part of Old P and M is sold for Rs. 75,000

Calculate depreciation at 25% on P and M additional depreciation of 13% (if any)
S9R Beey LTOMPOD BoRICR W, 2024-2025 § ohodgemeTond soees
PTnE Y 6#& Ho30. _

(-4-2023 § <0nO HS (¥y 1hom) Te. 7.50,000.

1-7-2023 § BrRE OPOE, (s Thowx) DHDed Se. 500,000, BT @S
Se. 200,000 RCWOLOT SEeohEE wobd. B BRE WO YUTITIT
Zek 30% @ HRED.

15-12-2003 Qo e MOoAT EnZ: oHoZRE, (Bohmd) Tw. 75,0008,
SO0l SPBRNT.

IR [T 25% SHJO  AEE ST 15% (Qmedte wQ0) god AnEe <3
Fos.

Mohan and Naveen are the working partners in a firm sharing profits and losses in
the ratio of 3:2. The Profit and Loss A/c of the firm shows a net profit of
Rs. 90,000 for the year ending 31-03-2024 atter debiting the following

Salary to Partners: Mohan Rs. 25,000 and Naveen Rs. 25,000.

Interest on Capital @ 20% p.a : Mohan Rs. 10,000 and Naveen Rs. 8,000

Rent paid to Naveen Rs. 3000 p.a.

Compute income from business of the firm for AY 2024-25 and also calculate tax
liability of the firm.
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BREE  WE) T 0 ﬁo%cﬁa RORFITE  TOLTTINGY, ol eWEY]
SFAYS, 32 wDTInY wotBeWms. Ry IFHE  sedodn 31-3-2024%
BRINROE SHREE, & IONTRNYRy, Dwr 3T T30 de. 90,000 D3
Ry, SRe0MWEE. ToermTor Fowe : Hee®s Twe. 25,000 T Soed
Do, 25000 0BT  w2Heds wE we&FE 20% ;. R[etES  Owr. 10,000
ey Ines TR 8,000.

BUPIN BN mwémﬁ% ¢ O, 5,000 ams%.
TOOETE D@ 2024f~25§ :do%oja aséﬁmdﬁocﬁ 2ThEs &smozbami 63§ Tod
By gon mzﬁmaﬁoﬁm& dg Tod.

)/I'he Income of domestic company for the previous year 2023-24 is Rs.7,00,000

(including long term capital gain Rs.1,00,000 and short term capital gain Rs.1,00,000)
Iis book profit for the same period is Rs.13,00,000.

Compute tax payable under:

a) Normal Rate System

by MAT

HBTe0d  SRE 2023—24% Tedecdd IoHQ wmeed T, 7,00,000 (BesreROod
WOTRE i T, 1,00,000 vy BERHHCD WoERY ©eFE Tn. 1,00,000
2e0T03). @k o[Hn  ©TY AT ooy OwR. 13,00,000 end.

a) IRy, R od Esﬁﬁﬁ@od}aoﬁag meEdAtioed Fortonay, R

by TEF wlohd <E wusd.

o 22

Discuss the Online e-filing and offline e-filmg process.
Bﬁ‘@aﬁ* RO WP ST e-Foorr Fgodod  wi  wEFA.

The Total Income of Jayashankar is Rs.7,80,000. Calculate advance tax payable during
the financial year 2024-25 and find out instalments if tax deducted at source is
Rs. 3,000.

RONBOBS  T=:O Buéﬁ% 200 T, 7.80,000. 2024-25 30030 ﬁﬁ?dg
TODENIICTOT  WOONE :éaﬁa‘bm% c‘}% Tos ms_ac MQ}ch 351 Ta3IRAYTOE
303> TR, 3,000 aﬁcgri* oz dﬁé Tod.

[P.T.O.
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SECTION - C
owmn — 3
Answer any Two of the following questions. 2x10=20)
gong NewR QUw IJnenR weILL.

From the following particulars of assets of XYZ Lid. Calculate the depreciation
allowable for AY 2024-25 and show the WDV as on 31-03-2024:

Particulars of Assets WDV on 1-4-2023 Rate of Depreciation
Building X and Y Rs.4,00,000 10%
Machinery P and Q Rs.2,00,000 15%
Furniture A and B Rs.1,00,000 10%

The company purchases the following assets during the year 2023-24
Building Z on 1-9-2023 for Rs.1,50,000

Machinery B on 1-11-2023 for Rs.1,00,000

Furpiture C on 1-2-2024 for Rs.50,000

The company also sold the following assets during the year 2023-24

Building X sold for Rs. 2,00,000
Machinery Q sold for Rs. 50,000
Fumpiture A sold for Rs. 20,000

The company received the subsidy from the Govemment to purchase the Machinery
‘R* Rs. 50,000.

XYZ Ooodes & NS AN S RONSor  SOUEUEm wRF 2024-25%,
SN ARWTCRE  NRTHODT, g8 i HFH  BWR0 2aeloEy, 31-3-2024%,
3reDA.

gone w=onsh osbmd 1-4-2023% nZe WO
Bl X Y o ge. 400,000 10%
ovog P =hEy Q ge.  2,00000 15%
aedpemstn A ¥ B gde. 1,060,000 10%

domcss  2023-24 T ®& IWHT RRNYED, Ealeliarseial
1-9-2023 ©Com: BIW L &, O 1,50,000 %
_11-2023 oz okog B &, Te. 100,000 %
1=2-2024 dor &eBEeTTCED ‘* oe. 50,000 %
2023-2400, SowRES BN THNIER, SO TRGS
3%:5 “X* de. 200,000 %
ohos, ‘Q de. 50,000 3
aedpemdcm ‘AT dwe. 20,000 %ﬂ

Fognaty ohod R & DeeHRen AomoGer dw. 50,000 FTROD PIUSIY
TathEnoRG.
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Veerabhadreshwar company Ltd has provided the following information for the year
ended 31-3-2024: AR
Total Income computed as per provisions of Income tax  Rs. 30,00,000

1.
2.
3.

Profit as per statement of Profit and Loss Rs. 70,00,000 =

A) Ttems deducted in Statement of Profit and Loss.
a) Provision for Income Tax Rs. 7,00,000
b) Dividend distribution Tax Rs. 50,000
¢) Provision for deferred Tax Rs. 50,000
d)  Securities Transaction Tax (STT) Rs. 80,000
e) Provision for gratuity on actual valuation Rs. 2,00,000
f)y  Dividend declared Rs. 3,00,000
g) Expenditure to earn Agricultural income Rs. 80,000
h) Depreciaiion Rs. 3,00,000

(This includes Depreciation of Rs.1,50,000 on revaluation of assets}

B) Hhems Added in Statement of Profit and Loss

a) Transfer from Special reserve Rs. 3,00,000
b)  Agriculture Income Rs. 4,00,000
¢) Long term Capital gain Rs. 1,00,000
Brought forward business loss as per books of account Rs. 6,00,000
Brought depreciation as per books of account Rs.5,00,000

You are required to compute
Tax payable by the company

DeSyTeEs  domd O 31-3-2024 § 3a3A0WS IREY B SUNS
d&a&é&'ﬁ?ﬁ)& SN AT
smwed 30K DwOGSNY TRO SLIEE wAD w@eod Sw. 30,0000

L.

2.
3.

i W, SIE [YoH WS o2y Ca. 70,00,000
©) oy @I FIR HIodY IBSReCICT  LTTR

a) ameoed 3018 Do de. 700,000
b) <eypoly HITH  ION oL,  50.000
c)  SOWRBED, 301 DLOTH Se. 50,000
d) o Rwoewd 3o SR, 80,000
e) TR JPYIRTBT nogs T, 2,00,000
) coegped  [eewsd oe.  3,00,000
g A soeod nvvwd By Seacyie. 80,000
h) RII® ge. 500,000

(2T0Y 8N mdam*e@smajms oeed 2. 150,000 ﬁﬁﬁiﬂtﬁ RITY

rsidelng!

IP.T.O.
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10.

w) g DR Dt iR ReORTRE  HOBMSO
a)  wieR opeReDROmRT  Wner SE de. 3,060,000
b) 3 37300 R, 4.00,000
c) DegFr=l 20BIRET OB o, 100,000
4, &8 F WRINT Capote I Dl TP, BOTE, 20008 ow. 600,000
5 &g o3, TORENY TEs  REPY FnoTd O, gp. 500,000
Jomaodn mReRBewD Borobay, dewy  Sf T

Explain the advantages of ITR. within time.
DUETE  ORBRUNTEY TeHodg, Hocdi  AR0A.

Shri Vinayak furniture give the following information:

Interest on Securities Rs.18,000
Dividend from Tata Company Rs.22,000
Income from house property Rs.80,000
Income from Business Rs.8,25,000

His son is disabled. he spent Rs.15,000 training and deposited Rs.40,0ﬁ0 for his
maintenance in a0 approved scheme of LIC of India. Tax deducted at sources
Rs.2500.

Compute the amount of Advane 1ax payable.

& QTR sedpeRgTnd 2OAT  Sled0TYy DT

BTENG s WG dr. 18,000
ot BOWRONOT eS0T ge. 22,000
=3 ﬁaonoozi TR0 Gr. 80,000

ﬁﬁﬁmdﬁoﬁ 200  Smecd de. 8.25,000

wRs il WONRIY oSt Boglcdmi TR. 15,000 S0eRF ARach R
whSeHg xSweIN 203 Qenodd)  ©Ed amFR®men Gr. 40,000 Bewed
S0 apLeR o, 2500 nesh, ®ew 0% BOIRPORLRNG.

pnen dewn  SRoNG 3on Toowme, UY Tob.
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SECTION - D
EAEALY, SR

Case study {Compuisory)
st let VGonT (a#wgoda 'gql)

X, Y and Z are three partaers in a manufacturing firm. The Profit and Loss A/c of

(1x15=15)

the firm for the year ending 31-03-2024 ig a5 follows,

Particulars Rs,
To Purchases 16,00,000
To Salary to Staff 2,15,000
To Income tax 20,000
To Expenses 90,000

To Remuneration to Pariners

X Rs.75,000

Y  Rs.50,000 .

Z  Rs.85,000 2,10,000
To Interest on Capital @ 4%

X Rs.28,000

Y Rs.21,000

Z  Rs.35,000 84,000
To Depreciation 53,000
To Net Profit 1,40,000

24,12,000

Other Information:

Particulars Rs.
By Sales 22,16,000
By Interest on debentures

of a Co(Gross) 40,000
By other Business receipts 6,000

By Long Term capial gains 1,00,000
By Short term Capital gains 50,000

24,12,000

a) The firm satisfies the conditions of See 184 and 40(b)

by The expenses debited to P and I, A/c are not allowable to the extent of

Rs.15,000
<y

which is not set off
¢} Y isanon working partner

Compute the tota] income of the firm for AY 2024
income of the firm if the firm does not comply the

Depreciation allowable as per the rules is Rs.40,000
d} The short term capital loss carried forward from AY 2018-

[PT.0.

19 is Rs.20,000

-25. What will be the total
conditions of Sec 184 and
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X, Y, Z ®heaE0 woT UInoe ﬁo%ojag TRERTIE 0. ﬁo%ocb L R
FTon  SeE  31-03-20240 @0@625 & BPnZoST:

SR anR. ParnterLH] on.
Aoehnsd 16.00,000 EROCTOTIN 22,16,000
ppolhioh e 2,15,000 Fomuch AOTENE
wiwed  30R 20,000 HedT wg (D) 40,000
SDWDFTILD 90,000 230 asaﬁmd oHedd 6,000
TOLOIRTOR  ROrRTN DOTRERG OB
X S, 75,000 aplnrates) 1,00,000
Y  de. 50,000 OoRBIEHOL oY
Z om. 85,000 2,10,000 RN 50,000
woRmeY  Foedm
AL Y 14%
X dw. 28,000
Y Se. 21000
z T, 35,000 84,000
Pafnt 53.000
A R 1,40,000
24,12,000 24,12,000
538 el

a) m%m oo 184 =B 40(b) ROBNIR, mﬁd:ogd

b) ooy #ES O IR BRI TREOR  WRFNYE, dp. 15000 =dng
He34, BREDITERIOOL.

¢} Dohwnd IO ODEIRWBT  FITY de.  40,000.

d) 2018-19 BTREUS HRELOT mocﬁ% WORRE  STRHOD OB
SXF OB 20,000 ©hoh OBy ROBRNRTNE,

eg) Y ), 2ox ZDRET TN,
2oes0m  mme  2024-253 ﬁoﬁ@cda 2063, gmeodany, 9y T :a’o:’gpom
dwo 184 F 40(b) T =TSR, TRORLGT ﬁo%ods 5ab3  BTRCH
RFT7




